BB - B3 =S

oo 2 @0 ©

337
3333

@ ® 50 © 4
2l 1.8 m @ 6 m B 4.5 kn
3l 24 m © 47 @

)

(100) <+ [(50] =100X99X98X--X51

36=2X2X3X372MDC, (100) + (50) 733 CEE Y YD ETHD,

L5 100 £TIE 30fEE, 33—16=17(=22) 21 DL 2 =
9 DL, 11-5=6(=) 81 DfFEIE1 =

FoT, BEEIVEING, 9 TISEREIV D,

(Gl |
(100) 233 TEV UL AEELE,  33+11+3+1=48(=)
(50] 23 TEIVEINAEENL,  16+5+1=22(r])

LoT, (48—22)+2=13

(100) =+ [50) 234 CTEIV U A[EHIE 26 [Bl72DC, 36 T 13 [B[EY Y5,

5
® 6@ ©Za ©a

(1)

)

®)

15 f&

=1 ABF OHfEIL. 4X2X %:4 (cnd)
AT BAF 1L AR = A7 D T, =4I ABP DlfifI 2enf
= ABP & =AIEBO & =FAJE (IR & =AEDAS TR U RE S0 T,

4X4—2X4=8

— cm
3




	10_B_算数問題・解答_2024.pdf

